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PART A
SYNONYMS

Directions (For the 8 items which follow) :

Each of the following 8 items consists of a word or group of words in capital letters, followed by
four words. Select the word that is most similar in meaning to the word or group of words in

capital letters.

1.  ABSURD 5. MUTUAL
(a) Senseless (a) Reciprocal
{b) - Clean ' . (b) Agreed
(¢) Abrupt (¢) Common
(d) Candid (d) Conjugal
2, PHILANTHROPY 6. IMBECILE
(a) Generosity (a) Astute
(b) Perversity . : (b) Cunning
(¢) Perjury {c) Stupia
{d) Flaunting {d) Ludicrous
3. INSCRUTABLE 17. ' WEIRD
(a} Strange : (E;.) Beastly
(b) Mysterious _ (b)Y Unpleasant
{¢) Marvellous - 7 (¢) Frightening
(d) Sublime ' (d) TUnnatural
4, EXACTLY ALIKE . |8 AVARICIOUS
(a) United (a) Greedy
(b) - Identical (b) Jealous
(¢) Comparable {c) Angry
(d} Regular " {d) Wicked
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ANTONYMS
Directions (For the 8 itenis which follow) :
Each of the following 8 items consists of a word in capital letters, followed by four words. Select
the word that is furthest in meaning to the word in capital letters.
9.  EXPLOIT . 13. RELUCTANT
(a) Utilize | (a) Avoiding
(b) Alert - - {(bh) Anxious
{¢)  Support : - _ (¢) - Refuse
{d) Neglect i (d) Eager
'10. DETRIMENTAL I 14. INTRICATE
(a) Demolition o (a) Complicated
{(bh) Aversion (b) Simple
{(¢) Beneficial ‘ (c) Colourful
(d). Bad o {(d) Good
11. SHARP 15. PENURY
(a) Bleak . (a) 'Pompous
(b) Blunt ' ~ (» Luxury
{c)’ Bright (c) Poverty
(d) Blond , (d) Punitive
12. CONDEMN + 116. EXPOSTULATE
(a) Censurc (a)} Protest
" (b) Approve ' (b} Agree
(¢) Recommend , .~ {e} Follow
(d) Praise (d) - Argue
0-OEBA-J-HB (3-A) .




SPOTTING ERRORS
Directions (For the 11 items which follow) :

(i} In this Section a number of sentences are given. The sentences are underlined in three
separate parts and each one is labelled (a), (b) and (c). Read each sentence to find out
whether there is an error in any underlined part. No sentence has more than one
error. When you find an error in any one of the underlined parts (a), (b) or (c), indicate
your response on the separate Answer Sheet at the appropriate space. You may feel
that there is no error in a sentence. In that case letter (d)} will signify a ‘No error’
response.

(i1) You are to indicate only one response for each item in your Answer Sheet. (If you
indicate more than one response, your answer will be considered wrong.) Errors may be
in grammar, word usage or idioms. There may be a word missing or there may be a
word which should be removed.

(i1i) You are rof required to correct the error. You are required eonly to indicate your
response on the Answer Sheet.

Examples ‘T’ and ‘Q’ have been solved for you.

P. The young child singed : a very sweet song. No error.

(a) - (b)) (c) (d)

Q. We worked very hard throughout the season. No error.
(a) (b) ' (e) (d)

Explanation :

In item P, the word ‘singed’ is wrong. The letter under this part is (b);-so (b} is the correct
answer. Similarly, for item Q, (d) is the correct answer, as the sentence does not contain any
error.

17. He hesitated to accept the post as he did not think
(a) : (b}

that the sala:ﬁz would be enough for a man with a family of three. -No error.

() (d)

18. Have you goné through either of these three chapters
(a) (b)

that have been included in this volume ? No error.

(e) ’ (d)
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I am learning English for ten years without much effect. No error.

(a) (b) ' e - (d)

Ramesh has agreed to marry with the girl of his parent’s choice. = No error.
(a) (b) (c) (d)

The pity is that no sooner he had left the place than the fire broke out. No error.
" (a) (b) ' (©) (@

When he was arriving the party was in full swing. No error.

-

(a) (b) (c) (d)

The Dean wrote he constituted a committee of experts comprising of ‘five members

(a} : (b)
before the next meeting took place. No error.

(c) _ (d)

I can't help to sneeze I got drenched yesterday and have a bad cold. No error.
(@ (b) | (© (d)

-

I have lived from the hand to the mouth
(a) A (b) _ _
for all these fifty years though nobody knows it.  No error.

(c) (d)

"Both he as well as his friend worked in close harmony
(a) "(b)

on the same project.  No error.

(e} ' (d)

The Monk loved riding and huﬁting and refused to-conform by rules and regulations
(@) ‘ (b)

of the ancient monastic order. No error.

{c} : ()

O-OEBA-J-HB




COMPREHENSION
Directions (For the 9 items which follow) :

In this Section you have three short passages. After each passage, you will find several
questions based on the passage. First, read a passage and then answer the questions based on it.

You are required to select your answers based on the contents of the passage and opinion of the
author only. '

Ex.amples ‘T and ‘J’ have been solved for you.

PASSAGE (EXAMPLE)

In our approach to life, be it pragmatic or otherwise, a basic fact that confronts us
squarely and unmistakably is the desire for peace, security and happiness. Different forms of life
at different levels. of existence make up the teeming denizens of this earth of ours. And, no
matter whether they belong to the higher. groups such as human beings or to the lower groups
such as animals, all beings primarily seek peace, comfort and security. Life is as dear to a mute
creature as it is to a man. Even the lowliest insect strives for protection against dangers that
' threaten its life. Just as each one of us wants to live and not to die, so do all other creatures.

I. The author’s main point is that d. Which one of the following assumptions or
steps is essential in developing the
(a) different forms of life are found on author’s position ? :
earth . (a)- All forms of life have a single
(b) different levels of existence are overriding goal
PQSSi]b]e in nature . {b) The will to. survive of a creature is

i i ith ire f
(c) peace and security are the chief goals identified with a desire for peace

of all living beings _ (¢) All beings are divided into higher and
' lower groups
(d} even the weakest creature struggles to

e Tif (d) A parallel is drawn between happiness
preserve 1is e

and life, and pain and death

Explanation :

I The idea which represents the author’s main point is “peace and security are the chief
goals of all living beings”, which is response (c). So (¢) is the correct answer.

J. The best assumption underlying the passage is “The will to survive of a creature is.
identified with a desire for peace”, which is response (b). So (b) is the correct answer.

0-OEBA-J-HB | | (6 -A) '




PASSAGE 1

There are eccentric people who enjoy saving money for no other reason than the pleasure of

saving money. It i3 a passion like drinking, and a hobby 11'k¢ collecting of china. Does it usually

- begin with a ﬁoney-box ? Imagine a painter drawing the Miser’s Prqgress in a number of scenes,

with the- first scene showing a benevolent grandfather holding out a harmless lecking tin

: lmoney-b_-ox to an infant scarcely able to waik. The gift should alWays be a;:companied by a box of

tools. As a young man th;a infant has grown into a miser. By the age of forty he has a substantial

bank account. But he persué(ies himself that he is so poor that he neverqgoes to the theatre,

never invites a friend to dinner. By sixty he is a 1:ich man and is convinced that he is all but a
pauper.

_ 28. Some people enjoy saving money because
(a) they are able to live a happy life
(b) saving is a passion with them
(c) they are able to enjoy the pleasur;es of life
{(d) . they can entertain others
29. If a money-box is given to a child, what should accompany it ? -
(a) Tips on the advantages of saving money ¢
(b} Guidelines to preserve it

{c) Instructions on when and how to open it

(d} A box of tools to open it

30. A miserly man of forty does not go to the theatre because .
(a) he has no liking for plays -
(b) he does not want to waste his valuable time
(¢} he persuades himself that he is very poor

{(d) he is frightened by the darkness of the theatre hall

O-QEBA-J-HB {7 - A)




PASSAGE 11

In the fete, for a ticket costing ;aight annas yvou stood a chance of acquiring a variety of
articles — pin-cushions, sewing machines, cameras or even a road engine. One e\;ening they drew
ticket number 1005, and I happengd to own the other half of the ticket. They declared that I
became the owner of a road engine ! Don’t ask me how a road engine came to-be included among
the prizes. It is more thaﬁll can tell you. I 100ked stunnéd. People gathered round and gazed at
me as if I were some curious animal. ‘Fancy anyone becoming the owner of a road engine I’ some

persons muttered and giggled.

31. The writer purchased a ticket

(a} to win a prize
. (b) to enter the fete
(c) to buy some eatables in t_:hé fete

(d) to play some games
1

32. ‘they’ in the paragraph stands for

{(a) the writer's friends
{b) the organisers of the fete
{¢) the stall owners in the fete

(d) the onlookers

33. The writer was stunned because

(a) he did pot win a prize ot
{b) he was at a loss as to what to do with the prize
(c) people giggled

(d) the fete organisers were rude to him

Q-OEBA-J-HB : ’ {8 -A)




PASSAGE III

A holiday in Uttarakhand is about supporting the economy and ecology of this fledgling state
with your heart, mind and muscle. Being at the camp with your family is a great bonding

expericnce combined with a grand taste of wild life and adventure.

. First comes the walk from the lakeside to the camp. It's one of the best indicators here to
“figure’ out how in or out of shape you are. Anything upwards of 15 minutes means it is time to
start taking your body and fitness levels more seriously. To cool off there is always the lake

where you can swim or learn how to kayak.

34. The word which is used with a double meaning is

(a) figure
(b) fitness
(¢) shape

(d) indicators

35. ‘It in the second paragraph refers to
(a)  camp
() lake
(¢) holiday .

(d) walk .

36. If you take about twenty minutes to walk from the lakeside to the camp it means that you

(a) are not healthy encugh
(b) walk too slowly
(¢) need practice in walking _ !

(d) must get used to the exercise

O-OEBA-J-HB (9-A)




ORDERING OF SENTENCES

Directions (For the 7 items which follow) :

In the following items, each passage consists of six sentences. The first sentence (S;) and the
final sentence (SG)' are given in the beginning. The middle four sentences in each have been
removed and jumbled up. These are labelled P, Q, R and S. You are required to find out the

proper sequence of the four sentences and mark accordingly on the Answer Sheet.

Example X’ has been solved for you. .

X. S, : There was a boy named Jack."

SS : At last she turned him out of the house.

P So the mother asked him to find work.
@ : They were very poor.

R :  He lived with his mother.

S Bﬁt Jack refused to work.

The proper sequence should be
{a) R-Q-P-8
(b) P-Q-R-S
(¢) Q-P-R-3

(d) R-P-5-Q

Explanation : The proper sequence in this example is R—Q—~P -8 which is marked by (a).

‘Therefore, (a) is the correct answer.

0-OEBA-J-HB (10 - A}




37.

O-OEBA-J-HB

3

: I last visited Kandy almost 10 years

ago.

: Set around low, forested hills, with the

Mahavelli the

Jandscape has an intense yet tranquil

river flowing nearby,

beauty.

'The bomb blasts and ugly face of ethnic

conflict have not robbed the place of its

gracious pace of life,

The artificial lake, which dominates the
landscape of the city, was built by its
last king in 18086,

Located in central Sri Lanka, at an
elevation of about 1,600 ft, Kandy was
the last Sinhala outpost of autonomy,
resisting both Portuguese and Dutch

rule before it succumbed to the British

in 1818.

Most famous for its Temple of the |

Tooth, a golden pagoda houéing a sacred
relic of the Buddha, Kandy is a gentle,
elegant, and imperturbable city.

‘The proper sequence should be

(a)

(k)

(e)

(d)

R-P-Q-8

S-P-R-Q

Q-P-S-R

P-S-Q-R

38.

39.

{11 -A)

: The status of women in our country is,

bn the whole, far from high.

: Education can lift these women out of

the depths of misery and ignorance into
which they have sunk.

But the plight of women in villages is
still miserable,

The educated women in cities enjoy
equality with the men folk.

The Movement for the Freedom and
Rights of Women has certainly been
steadily gaining momentum.

Their education has been thoroughly
neglected.

The proper sequence should be

(a)

(b)
(e)

()

R-P-Q-5
R-Q-P-5
S-Q-P-R
S-P-Q-R

Edison was an inventor of great ability.

: In the other he pinned the bills owed to

him.
But he had two hig books in his office.

In one of them he stuck the bills he
owed. .

He did not keep account books.

But he was
businessman.

not a very good

The proper sequence should be

(a)
(b)
()
(d)

P-Q-R-5
S-R-Q-P
S-R-P-Q
R-P-Q-58




40.

I never knew my father or my mother.

: There were no children nearby, and so I

wandered around in a lonely way.

I was brought up by my sister, much
older than I.

They died when I was very young.

When Gul Mohammad was working at
his forge, I used to spend as much time
as possible out of doors,

She married the village blacksmith, Gul
Mchammad, and I must say that he was
kinder to me than she was.

The proper sequence should be

(a)
“(b)
(c)
(d)

41. Slz-

b-»)

S

Q-P-S-R
S-R-Q-P
Q-S-R-P
P-Q-R-8S

We voyaged for many months, stdpping
at islands to barter our goods.

: Presently I rested under a shady tree,

had my meal and fell asleep by a
murmuring brook.

My companions and I went ashore
surprised by the abundance of fruit and
water on the land.

But I strolled on leaving them behind.

One day winds guided our ships to an
uninhabited island.

The men wandered around enjoying the
delights of the place.

The proper sequence should be

(a)
(b)
(c)
(d)

O-0OEBA-J-HB

P-R-S-Q

R-P-S-Q
P-R-Q-S
R-P-Q-5

42,

43.

{12 - A)

Ashoka became an ardent Buddhist and
tried his utmost to spread the Dharma,

;- Buddhism thus introduced the-elements

of peace and tolerance in many societies.

It ‘'was only by winning men’s hearts
that he sought to make converts.

The Buddhists attracted followers by
their own example of peace and
non-violence.

But there was no force or compulsion.

Thus Ashoka helped in - spreading'
Buddhism far and wide in the world.

The proper sequence should be

(a)
(b)
(c)
(d)

SI:

SG:

R-P-Q-5
Q-P-R-S
R—?_S-Q
P-S-Q-R

Some people prefer country life to city
life.

For these reasons more and more people
are leaving the country to live in the
city.

Country people live longer and generally
seem to be healthier and happier.

And a chance to meet more and more
people. '

Life in the country is quieter, cleaner
and less hectic.

However, the vcity offers
excitement and job opportunities.

more

The proper sequence should be

(a)
(b)
(c)
(d)

P-R-Q-8S
R-P-Q-S
PQQ_R_S
R-P-S-Q




44.

ORDERING OF WORDS IN A SENTENCE

Directions (For the 7 items which follow) :

In the following items, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled P, @, R and S to produce the correct sentence. Choose

the proper sequence and mark in your Answer Sheet accordingly.

*

Example ‘Z’ has been solved for you.

Z. Some people believe that the effect is very bad on children of cinema

[}

P Q R 8

_ Which one of the following is the correct sequence ?

(a) P-S-R-Q
(b) S-P-Q-R
(¢} S-R-P-Q
(@ Q-S-R-P

Explanation :

The proper way of writing the sentence is “Some people believe that the effect of cinema on
children is very bad.” This is indicated by the sequence P-S—R - Q and so (a) is the correct

answer.

in estimating the size of the earth

P
but they were hampered by the lack of instruments of precision ancient astronomers
Q B
used methods which were theoretically valid

S

_ Which one of the following is the correct sequence ?

{a) R-P-Q-S
(b) P—-R-Q-S
(¢) R-S-Q-P
(d) R-P-5-Q

0-OEBA-J-HB ' . (13 -A)




45.

-

- it is a pity that by offering a handsome dowry a number of parents think that

they will be able to ensure the happiness of their daughters

P

Which one of the following is the correct sequence ?

(a)
{b}
{c)
(d)

The common man in nurturing a more active role communal harmony should play

S-Q-R-P
P-R-S-Q
"P-S_-R-Q
P-R-Q-5S

Q

Which one of the following is the correct sequence ?

The doctor able to find out what had caused the food poisoning had not been
P

Which one of the following is the correct sequence ?

46,
(a) P-R-5-Q
(b)) S—-Q-P-R
(¢) S-Q-R-P
(d) P-R-Q-8
47.
(a) Swl_)—'R—Q
(b} P-R-Q-8
(¢ P-R-5-Q
d S-P-Q-R
O-OEBA-J-HB
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48. was suspended the officer being corrupt before his dismissal from service

P Q R S5

Which one of the following is the correct sequence ?

(a) Q-F-S-R
h) Q-P-R-S8
(¢) R-S-Q-P
(d) R-S-P-Q

49. With an unsteady hand on my desk from his pocket he toock an envelope and threw it
' P Q R S

'

Which one of the following is the correct sequence ?

(a) Q-R-P-8S
(b) Q-R-S-P
(¢ R-Q-P-S5

(d) R-Q-S-P

50. she gave her old coat to a beggér the oﬂe with the brown fur on it shivering with cold
P . - , - Q R S

Which one of the following is the correct sequence ?

(a) S—Q-R-P
) S-P-R-Q
() P-R-Q-8

d) P-S-Q-R

0O-OEBA-J-HB | ) {16 - A}




" PART B

51. Crocodiles store fats in 54,
(a) head
(b) stomach
(¢) tail
(d) arteries
52. In which one of the fo.llowing is a great dark
plain called “Maria” found ?
(a) Earth i
(b} Mars
{¢) dJupiter ,
(d) Moon
53. Match List T with List II and select- the
" correct answer using the code given below the
lists :
List 1 List Il
(Winner of (Novel) 55.
Booker Prize). .
A. Arundhati Roy 1. In a Free State
B. Kiran Desai 2. The God of Smalil
Things '
C. Salman Rushdie 3. The White Tiger
D. V.5. Naipaul 4, The Inheritance
of Loss
5. Midnight’s
Children
Code :
A B C D
(a) 1 5 3 2
h) 1 3 4 2
() 2 5 3 1
(d} 2 4 5 1
0-0EBA-J-HB {16 - A)

Match List I with List II and select the
correct answer using the code given below the

lists :
List I List I1
(Exponent) (Dance form)
A. Surendranath Jena 1. Kathakali
B. Pushpa Bhuyan 2. Kathak
C. Birju Maharaj 3. Bharat
Natyam
D. Sankaran 4. Odissi
Embranthiri :
Code :
A B C D
(a) 1 2 3 4
(b) 4 3 2 1
(e 1 3 2 4
(d) 4 2 3 1

Match List I with List II and select the.
correct answer using the code given below the

lists : :

List I . Listll

{Person) (Industrial Unit)
A. Indira Nooyi ‘ 1. Airtel
B. Mukesh Ambani 2. Wipro
C. Sunil Mittal 3. Pepsi
D. Azim Premji 4. Reliance
Code :

A B C Dl
(a) 3 1 4 2
® 2 1 4 3
(e) 2 4 1 3
(d 3 4 1 o




51, WIRHAF T Pl WUEd B 7 ?
(a) R=H |
(b) 3IRH
() Y A
(&) oWl H
52. frefeREa & 3 few ve & ~wRanr T geg 3w
© e S e e :
@ g |
(b) wue
(¢) gewfa
(d)y g
53. W 1@ gar I ¥ gifera s ok ghdi & =
femm e AR ES FTRGAT:
g 1 o 11
(§BX YXEPR & [asrar) (3T=ITT)
A - IEE G 1. 3Tem&e
B. R W 2. R W e wie o
C. JauH W 3. f%c?ygifa@w
D. dvw A 4. R o e
®c:
A B C D
(a) 1 5 3 2
(b) 1 3 4 2
© 2 5  3 1
d 2 4 5 1
. 0-QEBA-J-HB

54.

55.

{17 — A)

T 1 & g 11 ¥ gk Sfse ok it &
I R U BT @ wET o) W IR g -
e G
(Ricarews) (777 =)
A. giaqmém 1. HIE
B. g1 |4l 2. UG
 C. R wEeR= 3. YR
D. ¥i@e SRy 4. SR
A B C D
(a) 1 2 3 4
(b) 4 3 2 1
e 1 3 2 4
@ 4 2 3, 1

o I3 o O giftm SR sk g B

%%env@asrmaﬂaﬁmgﬁv:
T 1 T
(k) (3T gTy)

A . e T 1. vaed

B. = g5 3 9. fash

C. g e 3. =y

D. 35 IS 4. Rema=
A B C D

(a) 3 1 4 2

(b) 2 1 4 3

- (¢) 2 4 1 3

d 3 4 1 2




56.

Match List I with List II and select the
correct answer using the code given below
the lists :

List T
{Institute)

National
Institute of

Immunology

National
Centre for
Cell Science

.

C. Centre for DNA
Fingerprinting
and Diagnostics

D. National Brain
Research Centre

Code :

A B C

(a) 2 3 1

(b)y 4 1 3

(e) 4 3 1

d 2 1 3

List IT
(Location)

. Pune
. Manesar
. Hyderabad

. New Dethi

Who among the following is the winner of
the Wimbledon Men’s Singles title 2008 ?

57.
(a) Roger Federer
{b} Rafael Nadal
(¢) Novak Djokovic
(d) Andy Roddick
0O-OEBA-J-HB

{18 - A}

58.

59,

60.

61.

Consider the following statements :

1. Lamba in Gujarat is famous for wind
power plant. '

2.  Manikaran in Himachal Pradesh is
famous for geothermal energy plant.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢} Both 1 and 2
(@ Neither 1 nor 2

The metal compound commonly found in
Sindhoor or Kumkum is based 6n

(a) Tin
{b) Lead

. (e} Copper
(d) Zinc

Alum is usgd as

(a} an analgesic
(b) a fertilizer .
{¢) a disinfectant

(d) a purifier for water

Which among the following elements (metals)
pollutes the air of a city having large number
of automobiles ?

{a) Cadmium
(b) Lead
(e} Chromium

(d) Nickel




57.
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A Yo 3heege 1.

o 1B o Y g She sk gRe 5
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62. Oxygen and ozone are 687. Which one among the following is used as a

(a) allotropes moderator in nuclear reactors ?

{b) isomers {a) QOzone
(c) isotopes ' ) . {b) Heavy hydrogen
(d) isohars : (¢) Heavy water

63..° When applied to the affected area, which one (d} Hydrogen peroxide

of the following will relieve the pain due to
ant-bite or bee-sting ?

{(a) Lemon juice 68. Which one of the following contains
- maximum percentage of nitrogen by mass ?
g (b) Vinegar
(a) Urea
{c) Baking soda . ) Ur
(d) Caustic soda (b) Ammonium cyanide

. (¢) Ammonium carbonate
64. Which among the following is a chemical ’ :

change ? ' (d) Ammonium nitrate
(a) A wet towel dries in the sun

(b) Lemon juice added to tea causing its |g9, Match List I with List II and select the
colour to change correct answer using the code given below the

(¢} Hot air rises over a radiator : - lists
(d) ‘Coffee is brewed by passing steam "List I . List IT
through ground coffee ‘ (Substance) (Raw Material)
65. Which among the following is an element ? A, Glass 1. Fat and caustic

I
- {a} Alumina alkali

{b) PBrass : B. Soap 2. Cellulose fibre

and gelatin
(e} Graphite

C. Paper 3. Silicates of

(d) Silica o i B calcium and

: . N ) aluminium
66. Consider the following equation for the

formation of ammonia from nitrogen and D. Cement 4. Silica

hydrogen :

Yarog Code :

N2 + 3H2 = 2NH5

How many hydrogen molecules are required A . B_ C D

to react with 100 molecules of nitrogen ? (a) 3 2 1 4

(@) 100 ® 4 2 1 3

(b) 200 (c) 38 1 2 4

( 300 .

C) (d) 4 1 2 3

(dy 400

0-OEBA-J-HB \ {20 - A}
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65.
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Sitede 3 siE Prg § @ € ?
(a)
(b)
(c) Trenftism

(d) TIHIRG URHAIY]

IR BN O WR <7 9 wfag &9 ¥ AT W
frerfefaa & & s vs, = Faror s ?

(a) g & 4 - '
by RRar

(c) e der

d) ofes AT -

Frafofaa 3§ § sl Tmafe seamE & 2

(a) oo Mew dltfera ea A < s #

(b)y T A g I S FHDT T T&A A &
(¢) WeR T IR WA 3G IS 2 .

(d) T B F A R & et e 8 @

Breforfag & Q¥ e o A & 7
(a) bghr ' '
(b Qe

(c) e
(dy Faferer

MG T TS W aEEEr Y % Frfiad
T R R @ty .

- N, + 3H, = 2NH,
e 5 100 3 W afifar By & R R

BIEEIA 3031 B FEd gt ?

(a) 100
(b) 200
{¢) 300
(d) 400

67.

68,

69.

{21 - A)

afieig et § FPeefafes & @ oFmn o,

foies @ aE geeeT g & ?

(a) NI

(b) WRY EERIeA

{¢) R 9T

(d) arsg‘laqqqm

PrafeRaa § & fowd, somm & gt 9§ sifwan

yfarera Aggre WA S & ?
(a) =
(b) Mﬁuqms'«nsg'
(c) 3mifaw BEMe
(d) smifraw e
T I @ T 1 9 qifer St 3k oftrdt & 4R
few e gT @ yam R wR IR g
E%I ra%ﬁgvﬁ)
A @ 1. 91 9 TED &R
B. wEA 2. ey awq 9 faefes
C. ®maA 3. Ffegom 3 wgfutam &
faferse
D. #mWm= 4. Tferar
3T
A B C D
(a) 3 2 1 4
(b) 4 2 1 3
() 3 1 2 4
(d 4 1 2 3




Two elements gallium and oxygen combine to
formp a compound Ga,04. Which among the
following is the valency of gallium ?

(a) 1
(b) 2
(¢} 3
(d) 4
Vinegar is the trade name of
{a) Alcetic acid

(b} Chloroform

{c) Carbon tetrachloride
(d} Ethyl aleohol

Consider the following statements regarding
diamond :

1. It is an allotrope of silicon.

2. It is a bad ‘conductor of heat and
electricity.

3. It is the hardest substance.
4. It burns to produce carbon dioxide.

Which of the statements given above are
correct 7

(a) 1,2,3and4
(b) 2,‘3 and 4 only
(¢) 1 and 2 only
(d) 1,3 and 4 only

Which one of the following chemicals is used
in Beauty Parlours for hair-setting ?

{a) Sulphur based
(b) Phosphorus based
{¢) Silicon based

(d} Iron based

0-0OEBA-J-HB

. Non-conductors, whose polarization is caused

by an’electric field, are known as
(a) Semi-conductors.

(b) Super-conductors

(¢) Dielectrics

(d) Reéistive conductors

The resistance of a wire that must be placed
parallel with a 12 Q resistance to obtain a

combined resistance of 4 Q is

(e_t) 2Q
(b) 40
(¢} 6C

(d) 8Q

One lighi; year is equal to
(a) 946 x 107 m
(b) 946 x 10" m

() 946 x 107 m

(d) 946 x 10 m

Which among the following thermometers is
preferred for measuring temperature around
1250°C ?

(a) Mercury thermometer
(b) Constant volume gas thermometer
(¢} Optical pyrometer

(d) Platinum resistance thermometer
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(a}y 2Q
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80.

81.

(a) Inductor
f (b) Capacitor
' (c) Resistor
. (d) Transformer
0-OEBA-J-HB

(a) 1 mm

(b) 1cm

(¢) 1 micron
r(d) 1 angstrom

(b} depends on its frequency
(c) depends on its intensity
'(d) ‘neither depends on its wavelength,

What is the mass of one ltre of cottonseed oil
of density 926 kg/m® ?

{a) 926 kg

(b} 926 kg )
(e) 0926 kg

(d)

9260 kg

-

The wavelength of X-rays is of the order of

In vacuum, the speed of light
(a)

depends on its wavelength

frequency nor intensity

Which one  of the following statements
gorrectly defines power ?

(a)
(b}
(c)
(d)

Energy supplied per unit time
Energy of an object due to its motion
Energy of an object due to its position

None of the above

The electric charge is stored in a device called

83.

84, -

85.

{24 - A)

Consider the following parts of spectra :
1. 'Visiblc_e

2. Infrared

3‘. Ultraviolet

4. Microwave

Which one of the following is the correct

sequence in which their wavelengths
increase ?

(a) 4-3-1-2

by 4-1-2-3

() 3-2-1-4"

d) 8-1-2-4 .

Propagation of light quanta may be
described by

{a) Photons
(b) Protons
{e) N eutron(s
(d) Electrons

Which one of the following is not
electromagnetic in nature ? :

(a) Cathode-rays
(b) X-rays
(¢) Gamma-rays

(d)

Infrared-rays
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Which one of the following is the value of
current I in the circuit shown above ?

(a) 5A
(b) 10A
() 15 A

(d 20A

The force experienced by a unit positive test
charge placed at a point is called

(a) Magnetic field at that point
(b} Gravitational field at that point
(e) Electrical field at that point

Nuclear field at that point

A long jumper runs before jumping because
he

(a} covers a greater distance
(b) maintains momentum conservation

(¢) gains energy by running

(d) gains momentum

0-OEBA-J-HB

Which among the following is the necessary
condition for simple harmonic motion ?

(a) Constant period
(b) Constant acceleration

(¢) Displacement and acceleration are
proportional A

(d) Displacement and torque
proportional

Consider the following four particles :
1. Alpha particle

2. Proton

3.  Electron

4.  Neutron

Which of the following is the correct
sequence in  which their rest-masses
increase ? .

(a) 3-4-2-1
b 4-2-3-1
(¢c) 3-2-4-1

(d 2-3-1-4

If an g-particle is projected normally through
a uniform magnetic field, then the path of the
o-particle. inside the field will be

(a) circular
(b} parabolic
(¢c) elliptic

a straight line
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92. How far must a girl stand in front of a
concave spherical mirror of radius 120 c¢cm to
see an erect image of her face four times its
natural size ? ’

(a) 40 cm from the mirror
(b) 45 c¢cm from the mirror
(e} 50 cm from the mirror
{d) 55 c¢m from the mirror

93. Match List I with List II and select the
correct answer using the code given below
the lists :

List I List It
(T'ype of (Approximate
electromagnetic wavelength
radiation) in metres)

. A. Infrared radiation 1. 10712
B. X-raj.rs 2. 1070
C. Ultraviolet radiation 3. 10710
D. Gamma rays 4. 1078
Code :
A B C D
{a) 2 3 - 4 1
by 1 4 3 2
{c} 1 3 4 2
(d) 2 4 3 1

0O-QEBA-J-HB

94.

95.

96.

{28 =-A)

< GOcm———-———Jr

The standing wave pattern along a string of
length 60 cm is shown in the above diagram.
If the speed of the transverse waves on this
string is 300 m/s, in which one of the
following modes is the string vibrating ?

(a} Fundamental
(b) First overtone
{¢) Second overtone
(d)

Third overtone

A sonometer wire having a length of 50 cm
is vibrating in the fundamental mode with a
frequency of 100 Hz. Which of the following
is the type of propagating wave and its
speed ? :

(a) Longitudinal, 50 m/s
(b}
(c)

(d)

II"ran.'z‘w:rse, 50 m/s
Longitudinal, 100 m/s

Transverse, 100 m/s

Which one of the following is the amount of
heat given up when 20 g of steam at 100°C
1s condensed and cooled to 20°C ? R

(a) 10000 cal
(b) 11400 cal
(e) 12400 cal
(d) 13600 cal
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UF e @, HW WHEE TR $ FWY A uR
T I & Gen wfifere dE $ few e
120 cm AR 9@ FEaA Tehd &l & e, |

fesat g8 W @ A A ?

~(a) =T ¥ 40 cm

(b) <UUT | 45 cm
{c) TGO ¥ 50 cm

(d)'aﬁ'UT??f55cm

93. qﬁ\laﬁqﬁ’lﬂﬁﬁﬁﬁﬁaﬁﬁvaﬂ?@@r‘&s
A Re e gr w A AR WA IR YR
ol o
%%} (ﬁﬂ#wm#wf)
A e fafeso 1. 10712
B. X-foeol 2. 107°
C. WETA ﬁz’fﬁ?{wl 3. | 10-1I°
D. A fRet 4. 108
w:
A B C D
(a) 2 3 4 1
(b) 1 4 | 3 2
© 1 3 4 2
(d 2 '4 3 1
0-OEBA-J-HB )
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(©) et 100 mss

(d) 3rFRI, 100 m/s
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3% oo s &, aw Fofofes & @ o9 e
gRamor ot Fe s e ?

(a) 10000 eal
{(b) 11400 cal

{¢c) 12400 cal

(d) 13600 cal
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98. Consider the following statements :

1.  Different plant species grow together.

2. Light cannot penetrate into the lower
strata full of undergrowth.

Which of the following types of vegetation is

characterized by the above ?

(a) Equatorial moist evergfeen

(b) Tropical deciduous

(c) Mediterrancan

(d) Warm  temperate broad leaved
deciduous '

99. From which one of the following is the
percentage of reflected amount of radiation
highest ?

{a) Wet ground
(b Thick cloud
{(c) Forest

{d} Snow cover

100. On planet'Earth, there is no centrifugal force
at the
(a) Egquator’ T
(b) Tropic of Cancer
(e) Tropic of Capricorn
(d). Poles

O-OEBA-J-HB { 30 -

Which one of the follo»\;ing is the mode of
heat transfer in which warm material is

transported so as to displace a cooler.
material ?

(a} Conduction only

(b) Convectionlonly _

{c} Radiation

(d) Both conduction and convection

101.

102.

103.

A)

Which one of the following sets of states
does not receive most of its rainfall from SW
monsoon during the months of June to
September ? : . '

{a) Arunachal_‘Pradesh and Gujarat

(b) Assam and Karnataka

(¢) Himachal Pradesh and Rajasthan
(d} Tamil Nadu and Jammu & Kashmir

In which one among the following states is

the percentage of Scheduled Tribes
population to its total population highest ?
(a) Chhattisgarh

(b) Madhya Pradesh

(¢} Mizoram

(d)

Rajasthan

Match List I with List -1l and select the
correct answer using the code given below

the lists : ct
List I List IT
{Peak) (States)
A, Dodabetta 1. Maharashtra
B. Guru Shikhar 2. Madhya ‘
' _ Pradesh
C.  Kalsubai 3. Tamil Nadu
D. Dhupgarh 4. Rajasthan
Code :
A B C D
(a) 3 1 4 2
by 2 1 4 3
(c) 8 4 - 1 2
(d) 2 4 1 3
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104. The mass of watér vapour per unit volume of
air is known as ’
(a) Relative humidity
(b) Specific humidity
(c) Absolute humidity
(d) Variable humidity
105. What is the term used to denote the eritical
temperature at which the air becomes
saturated with vapour and below which the
condensation is likely to begin ?
(a) Condensation-point
(b) Evaporation point
(¢) Dew point
(d) Point of critical temperature
106. Match List I with List IT and select the
correct answer using the code given below
the lists :
List I List IT
(Fishing Bank) (Coast)
A. Dogger Bank 1. Newfoundland
Coast
-B. Grand Bank 2. Australia Coast
C. Great Barrier 3. North Sea
Reef
D. Tonga Trench 4. East of Fiji Island
Code : ‘
A B C D
(a) 3 1 2 4
{(b) 4 2 1 3
{c} 3 2 1 4
(d) 4 1 2 3

0-QEBA-J-HB

107.

108.

Dry point settlements are common in

(a) Deserts

(b} Plateaus

(c) Mountain regions
(d) Deltas

Mateh List I with List II and select the
correct answer using the code given below
the lists. :

List I List IT
(Himalayan (States)
Peaks)

A, Nanga Parbat 1. Jammu &
Kashmir
B. Nanda Devi ' 2 Sikkim
C. Kanchanjungé ! Uttarakhand
Code :
A B C

(a) 1 2 3
b) 1 3 2

(e 2° 3 1

@@ 3 1 2

109,

(32 - A}

Which one of the following instruments is
used for measuring the humidity of the air ?

(a) Wind vane

(b) Aneroid barometer

{c) Wet and dry bulb thermometer

(d) Maximum and minin.auljn thermometer
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(d) 3 1 2
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110.

Which amoﬂg the following is the correct
sequence of rivers starting from North to
South ? ‘

(a}) Bhima— Godavar'i — Penganga -
Tungabhadra
(b} Godavari -~ Penganga — Tungabhadra —
Bhima
(c} Penganga - Godavari ~ Bhima —
Tungabhadra ‘
(d) Penganga — Bhima — Godavari —
- " Tungabhadra
111. Which one of the following is the
international aircraft identification mark
(registration préfix) for India ?
(a) AT
by VT
(c) IX
d VX
112. Match List I with List II and select the
correct answer using the code given below the
lists : _
List I List Il
(Volcano) (Country)
A.  Mount Etna 1. India
B. Kilimanjaro 2. U.S.A.
C. Katmai 3. Tanzania
D. Barren Island 4. Italy
Code : .
A B C D
(ay 1 3 2 - 4
(b) 4 2 3 1
() 1 2 3 4
d) 4 3 2 1
0O-OEBA-J-HB

113.

114.

115,

116.

117.

(34 - A)

Shimsha, Hemavati, Arkavati are the
tributaries of which one. of the following
‘rivers ?

{(a} Tapti

{b) Tungabhadra

{(¢) Kaveri

{(d) Krishna

Which among the following planets is smaller
in size than the Earth ? '

{a)- Neptune

{(b) Venus

(c) Saturn

{d) Uranus

Which of the following is nof correctly
matched ?

(a) Prime Meridian 0°

(b} International Date Line 180° .
(e) Arctic Circle 66%° N
(d) Tropic of Cancer 23%° S

Which one of the following is the difference in
local time between the places located at
165° East and 165° West 7

(a) O hours

(b} 12 hours
(c¢) 22 hours
(d) 24 hours

The natural dye present in turmeric is known
as

(a) Cinnamin

{b) Phenolphthalein
(¢) Methyl orange
(d} Curcumin )




110. IR ¥ TRY @ afdor & 3R ¥ pu ¥ SR o113, FrafaRyg At § ¥ 5w v & B, uedt

frafafas & ¥ S v ergme we 2 ? ysiadt wers Afedr € ?
(a) AT - MY ~ YA - e () A
' _ . ' (b) T
(b) TRTEr ~ YT - e - dpw ©
(¢) O - TeEEr - W - JHE (d) =

(&) O~ R - M - G 114, PreRfEs ¥ ¥ S T Tl & e e A

| BRIl g ?
111. frafRed § ¥ s @ R & e sFRIgx (@) e
Tga gear fug (deiexor gveaa) @ 2 :

% (b) &

; (a) AT _ ) (C) Wﬁ'
(b)y VT (d) LI
© KX | 115. Braffea § & s o8 gifm 7 & 0
@ VX (a) V@ TRARR : 0°

112, G 13 g 11 9 Pl e sk il & R (b) s fofy @ . 180°
fae e He & Wi IR wE IR ghe

Sl e @ = @ . 23308
A WABT A - 1 HRE |
B Ffrerd 2. e i SR 116: mqqﬁ%wﬁm%ﬁgzﬁf;ﬁizﬁiﬁm
c. wowd 3. g | (2) 08
D #aomde 4w (®) 12770

: (¢} 228 -

= (d) 24 9og

A B ¢c b 117. =@ ¥ faenr wphie e T s & ?
(a) 1 3 2 4 (a) FAfE
(b) 4 2 3 1 (b) W
(@ 1 2 3 4 () #fe sifes
d 4 3 2 1. (@) TR

0-OEBA-J-HB (35 - A )




118. Which one of the following is net an
enzyme ?
{(a) Amylase
(b) Pepsin
(¢) Somatotrophin
(d) Trypsin

119. Which one of the following processes takes
place in lakes during eutrophication ?
(a) Rapid destruction of algal growth
(b) Excessive availability of dissolved
oxygen
(c)- Loss of dissolved nutrients frorn water
(d) Excessive entry of nutrients into water
120. Among the given nutrients, milk is a poor
source of
(a) Caldium
(b} -Protein
(c) Carbphydra}te
(d} Vitamin C
121. Which one of the following  is not a
mammal ?
(&) Dolphin
(b) Shark
(¢} Seal -
(d) Whale
122. Which of the following organelles of .a cell
is/are involved in photosynthesis ?
(a) Chloroplast
(b) Mitochondrion
(c) Endoplasmic reticulum
(d) Golgi bodies
O-OEBA-J-HB

123, The wounds of face bleed profusely because

(a} of its rich vascularity
(b) it is close to the heart
(¢) its skin is soft

(d) of fast contraction of facial rﬁuscle

[ 3

124. Oral Rehydration Therapy is recommended
for patients suffering from '

{a) " Tuberculosis
L {b) Typhoid

{(c) Tetanus

(d) Cholera .

125. Match List I with List II and select the’
correct answer using the code given below the

lists :
List I List IT

(Disease) (Diagnosis)
A.  AIDS 1. Widal test

Plague 2. Wayson stain test
C. Typhoid 3. ELISA test

4. Mantoux test

Code : ,

A B C
(@ 4 3 2 '
® 3 2 1 )
(e 1 2 3
. d) 3 2 4

126. Which of the following are the possible blood
groups of the offspring of the parents with
‘blood group O and AB ?

{(a) O, A, Band AB
(b) A and B

(¢) A, Band AB.
{d) O and AB

(36 - A




118.

119,

120.

121.

122,
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Frefafed & & S s vomH 7@l ¢ ?
(a) ©AReE

(b oae

(¢ wrRgReE

) Rwr

Frafafea # ¥ S0 v sfwar, At § oo B
AR Bl &2

(a) vl gfx & @ e

by e aiom o TgR ey

(00 ¥, felH dvss aw@l & @

(d) = ¥ dfes aw@i @ TR vl

Prrffea dws @l A 6w U @1, g ged
da e _ -
(@) dam .

b) Tm ‘

(c) TEERFT
(dy Feefim ¢

Rrferfa ¥ ¥ BT o e 7 & 7
(a) SR |
(b) &
© A
(d) =

frafafan aRem 4 @H, sor-awese §
aftfer gar &8 & ?

(a) FTERERT - |

(b) wEBlgAE

(c) vRrenfers Wepem

(dy el B

123,

124,

125.

126.

(37 - A)

X ¥ U I 3cafirs whuE e SR AT @ ?

(a) BEDH AR HIEAdl & BRI
(b) UE ged & Froc @
(¢) TUH @A G ©
(d) AUl B A SPHad & SR
TRg-serda Imgar FrefalEa 4 § few we
¥ 7w A & fowe areifia v s 2 2
(a) T&dr
(b) TRWEFS
() TTAd
(d) @&
g 1@ g 1§ gifem ifsw ok gfirdi & AR
fom M e B AW IR T IR G -
gt I qeh 1
(7) (F7ar)
A TEH (AIDS) 1. formr o
B. @ 2. TG R WEm
C. tEwEE 3. ofRrem (ELISA) Temr
4. TG el
g
A B C
(a) 4 3 2
® 3 2 1
(e 1 2 3
(@ 3 2 4

O 3R AB ¥ WHg T@ SH@ O M B
Fraferfas 4 ¥ s v T TE € 2

(a) O, A, B3R AB
by A3RB

(©0 A, B3R AB
(d) O3k AB



127. Who among the following was the author of
Tarikh-i-Alai, which contains the details of
the first few years of Sultan Alauddin Khilji ?

(a)
(b)
(e)
(d)

- 128,
(a)
(b)

{c)
(d)

129,

(a)
(b)
(c)
(d)

130.

A
B
C.
D
C

(a)
(b)

(c)

(d)

O-OEBA-J-HB

Who
contemporary of Gautam Buddha ?

Sati was-declared illegal and punishable by
the Regulation XVII during the Governor
Generalship of

Match List I with List II and select the
correct answer using the code given below the
lists :

. 1! Battle of Panipat
. Battle of Plassey

. Battle of Talikota

ode :

Ziauddin Barani
Shams Siraj Afif
Amir Khusrau
Yahiya bin Ahmad )

among ‘the following was a]

Nagarjuna
Kanishka
Kautilya
Mahavir

Lord William Bentinck
Lord Canning

Lord Ripon

Lord Dalhousie

List I
(Battle)

List IT
(Year)

1565
1526
1757
1576

Battle of Haldighati

Ll s

ot »—n_m = T
w o e~ w W
[ SO RN O‘
BN = e U

{38 - A)

131.

132.
o {a)

133.

134.

135.

Which one
attributed to Subhash Chandra Bose ?

(a)

of the following slogans is

Jai Jawan Jai Kisan

{(b) - Bande Mataram
{¢}) Jai Hind
(d) Ingilab Zindabad

Where did Buddha attain Parinirvana ?

Bodh Gaya
(b} Kushinagara
(¢) Rajgriha
(d) Vaisali

Bande Mataram, the nationalist song, was a
part of

(a) Durgesh Nandini
(b} Sargswati Chandra
(¢) Grihadaha

(d) Ananda Math

Who among the following has authored the
book Hind Swaraj ? '

(a) Bal Gangadhar Tilak
(b) Mahatma Gandhi

(¢) Gopal Krishna Gokha]é
(d) M.G. Ranade

The entry “Public Health and Sanitation” is
included in the Constitution of India in

(a) Union List -

(b) State List

(c} Concurrent List
(d)

None of the above




27. FraftiRae § 4 @ aRiE-r-3FE & O9s o,

128.

o o emeae Rasist B wuw $E aul @
fora=or fiyerar @ ?

(a) FoomeA &

(b) I RRIF IBH®

(¢) SR T

(@) uifgr-fa=-aeme

ﬁmﬁﬁaﬂﬁ%aﬂqfﬁaﬂ@mwm?
(a) SFMHA

b

(c} Fg'fi:c'?c"\’l

(d) weEER -

. Frfefae & 3 o W=k o e & oo |
TYgETE XVII & gR1 80 31 IR-&rp 3R avgia
oing fear T 2 -

‘ (a) @S Gftrm sfes
(b) @it HFw
‘ (¢) s RE
(dy g sEeen
130. T 19 T I1 ¥ il S o i & 99
- e 7 T @ W @R TE IR g _
g 1 qh I
(gz) (av)
A THWHEWREGE 1. 1565
B. @R & & 2. 1526
C. TRUR & & 3. 1757
D. wfoee & gg 4. 1576 -
@C
A B C D
(a) 2 3 4 1
(b) 2 4 3 1
© 1 4 3 2
d) 1 3 4 2

O-OEBA-J-HB

131.

132.

133.

134'

135.

(39 - A)

)

(d)

fraffEa 3 & a9 v AR guN T A @
HAT S @ ?

(a) I S9F o1 feam
(b) &= ATERH

(c) w3 fE=

(d) shoam Fraar

& B Wifafor waf wwe ganm an ?
(a) & T

TR

ISTTE
el

(c)

Tg-fia = " frfefea F 3 fswe o siw
g ?

(a)
(b)
{c)
(d)

[CEd O
Teere
A< °S

PR & 3 R s vy s forcht 2 2
(a)
b)
(c)
(d)

e TmeR faas
HETeT T

A Hwi MR
TH.SN. AR

YR & GiagH # “FAle Wed vl JWwdr wafe
oo g § wimftm & 2

T g

T g

e g

3§ A PR T

(a)
(b)
(¢
(d)




136.

The Instrument of Instructions contained in
the Government of India Act 1935 has been
incorporated in the Constitution of India in

the year 1950 as

(a) Fundamental Rights

(b} Dircctive Principles of State Policy
(¢} Fundamental Duties
(d) Emergency Provisions

Who among the following was the advisor to

137.
? the Drafting Committee of the Constituent
Assembly ?
(a) B. Shiva Rao
(b) Dr. B.R. Amb(;dkar
{¢) . Sachidananda Sinha
(d BXN. Rau
138. On which of the followi.ng grounds can a
Judge of the Supreme Court or a High Court
be impeached ?
1. Violation of the Constitution
2. Proved misbehaviour
3. Incapacity )
Select the correct answer using the code
given below :
{a) 1 only
(b} 2 only
(c) 1, ‘2 and 3
(d} 2 and 3 only
0-OEBA-J-HB (40 -

139.

140.

141.

_(d)

Which of the following is/are thd
function/functions of the Finance Commissio
of India ? '

1.  Making recommendations as to thd
principles governing grant-in-aid of the
revenues of the States.

2. To suggest measures to
Consolidated Fund of India.

augment

Select the correct answer using the

code
given below : :

(a) 1 only

(b) 2 only

{(¢) Both1and?2

(d) Neither 1 nor 2

Which of the following Constitutional

Amendments have added Article 15 (5) in the
Constitution of India  providing for
reservation in educational institutions in the
private sector also ?

(a) ~ 81%" Amendment
) 86" Amendment
- (c) 91 Amendment

(@ 93" Amendment

If any question arises whether a Bill is 2
Money Bill or not, whose decision shall be
final ? '

(a) The Supreme Court of India
(b) The President of India
{c) The Speaker of the Lok Sabha

Joint Parliamentary Committee

A




36.

137,

138.
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 2. g PamR

HRA TWHR et 1935ﬁwﬁwaaﬁsr-;rﬁr
(g 3w FREera) B 4Rd & wiouH F o
1950 # Frefifea ¥ fead wfinfag fear o
& :

(a)
(b}
{c)
(&) 3T g

Prafefag ¥ @ P9 Ifaw o & e [k
B GoEHR o1 ?

(a) @ P

Bi. 9.HR. rEsI

i< fae=r

(b)
(c)
(d) &ed. |

PrafaReg § ¥ fre MR WX J9aR AR
AT IoT AEEE 6 IR R R
T FET & P :

1. dfgus & Ieoue

L

© 3. e

i fiw e g @7 WA R EE IR g
a1 |
o 2

1, 23R 3

Faa 2 3R 3

(a)
(b)
(c)

(d)

{41 - A)

139.

140.

(a)
(h)

141,

(b)

r=fefea § ¥ o7 /¥ wRa & fag s sys
o 2fE ?

1.  Usdt % USE B AR B FREA

A g Fagrdt o e &RF |

9. uRd o dfua At o1 wada a) arer o

o gHE o |

M fw e pe 1 A IR TS IR e
&ad 1

&ac 2

(¢) 13k 23m

(@ Tar1R=TE2

(a)
(b)

PrafefiEg dfFeny w@oe F J 5O WRa &
Jfe ¥ ek 15 (5) Sher m & S el em
B e dwmi § N IRaw HT 3uET A=Al
g7

81d7 e
86di TeNeH
() 9147 HeleA

(d) 93af Fha=

ofe ug we7 3oa & 5w o fode an-ladas
T A A PefeRem & ¥ fower Fol
FAEq 8@ 2 -

YR &1 IIIA e

HRd &I IAGfT
T AT B 3N

Hgwh waerd At

(a)

(c)
(@)



142. The current Economic Census of India, the

fifth in the series, was conducted in the year
(a) 2005 '
(b)) 2006
{c} 2007
(d) 2008

Which among the following states/UT is the
latest to introduce VAT (Value Added Tax} in
India ?

(a)
(b)
(c)
(d)

Gujarat
Puducherryﬁ
Uttar Pradesh
Tamil Nadu

Who among the following was the Chairman
of the High Level Committee on Competition
Policy and Law ?

(a)
(b)
(c)
(d)

Bimal Jalan

C. Rangarajan
Y.V. Reddy
S.V.S. Raghavan

The idea of including the Emergency
provisions in the Constitution of India has
been borrowed from the

(a}
(b}
(c)
(d)

Constitution of Canada

Weimar Constitution of Germany
Constitution of Ireland
Constitution of the USA

In India, public expenditure on education

(Centre and States) as a percentage of GDP |

at present. is between
(a)
(b)
{c)
{d)

2 to 3 per cent
3 to 4 per cent
4 to 5 per cent
5 to 6 per cent

O-OEBA-J-HB

1477, Assertion (A) :

149.

. Assertion (A) :

two statements, one labelled as the ‘Assertio

(A)’ and the other as ‘Reason (R). You are t

examine these two statements carefully an

select the answers to these items using the
codes given below :

Codes :
(a)

Both A and R are individually true and
R is the correct explanation of A

(b) Both A and R are individually true but
R is not the torrect explanation of A

(¢) A is true but R is false

(d) A is false but R is true

Carbon can form more
compounds than any other
- element.

Reason (R} : Carbon can exist in various
: allotropes.

In summer a block of iron is

hotter than a block of wood.

The relative density of iron
1s more than the relative
density of wood.

Reason (R) :

Two  artificial  satellites
having different masses and
revolving around the Earth
in the same circular orbit
have same speed.

Assertion (A) :

Reason (R) : The speed of a satellite is
directly proportional to the

radius of its orbit,

Assertion: (A) : The Equator is
. circle.

Reason (R) :

a - great

The Equator encircles the
whole Earth and its plane
divides the Earth into two
equal halves.




. 142,

143.

144,

1435.

146.
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(d)

\
YRe B aduE AT, sfwen § dedl, fw
of & TS o ?
(a) 2005
(b) 2006
() 2007
2008

yRa # Freafefea sty sa-aEt ¥ 3 B9 v

3 99 T ¥ gy affid a (VAT) o fovar 2

() TERE

(b) TR .
() I W
(d) aFE g

frafataa F @ o, vfrafiar f @ /i ®
TiSa 357 W Afafa & sreger or ?

(a) fama @™

(by ¥ GRS

(¢) da.d

(d) vI.drvy. Juad

R & WU § AT UG BT TR A B
foaw Frafafea # & oud o man 2 2

(a) ST B HideH

(b) T B aEER WRuE

(¢) 3RS &7 SRaH

(d) aﬁgﬁmmﬁaﬂwsmaﬂﬁ%ém

aRd ¥ e R g g (% vd I59) adwi
¥ Hebel AT I & Wiererd & w9 § Fafofaa &
Apardaud» '

(a) 2% 3 wiae
(b)) 3% 4 yfaea
(c) 49 5 yideE
(d) 53 6 ufaea

]

39 - sl g (4) gl ¥ ndw ¥ 2 amaa &

147.

148.

149,

150,

{43 - A)

0% B ‘BT (A)' T G B PRV (R) BT T
& 1 57 ) gl @ wEaRIgdE Wwor Y 57
o @ IR A fBv g pe @ vEEd ¥

ik

(a) AR RH @1 & 3R R A&

AEEEROT &

AR RIA ¥ €, G R, AF T
wdERw 7@ @

(b}

() ATE &, R RTma &

(d) Amed ¥, oo R 98 2
HYT (A) : DA 3= a7dl DI e ftrs s
g Thdi g |
PROT (R) : &la- [AHE 3ued ¥ o @ 9&ar
- =l
B (A) : T A v olie wog @1 wvs ¥ At
TRA @ & |
FROT (R) : @ & 3Mifes e o & 3mfes
TTa A AT B R |
FYT (A) : 21 B g aw o 3uur, R
IRl aE WHE g Hem J 9 d9re
Agra d
®RT (R) : squga?rara,sﬂﬁas&ﬂasmas
| AATETST BN & | ’
BT (A) :  YAEA W gE T & |
HRYT (R) : Aed @ T gedt &Y IR gT 8 9 39
TAAA Gl B A SR e A
glear g |
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A.@A. . 0-OEBA-J-HB wfteror gRerer 3
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e e,

g : @t g 3k dw BAe | Qi : 600

10.

Srye

A R B F g T2, W §9 qdiarr yiae o ugae e o o 5 g o K oom, wer
a1 g1 N 5 37al nenw anfe 9 & | ok 0w 2, @ 59 9 adieor gRaw | @@w HAfw |

L FR-9ESE 98 WA R wWisor Rt 3gwE A, B, C o1 D TRl we w7 9§ geas it |

T4 Wi QRaer R arer § Ry 1 wres 3§ m@) s
Iy foraT 2 1 wdiavT gRae R sk gE T o |
39 TRIE0T gt § 150 i e A wif A Re v € - wm A iR ww B | yw B & gede mgeeier

- It sk Fash @ A B @ 1 YT e § OR TR (IR) fie e € | 5 9 vl ueeR o g 4,

9 o FR-wES W sifesa FE AR § | AR s b o 5 vw @ ot rgeR Wl €, @ 39
egTR B it WX S ST Walw o | s wei & o daeT ow & FgeR g & |

HIUSHT YA TR TR A A e M FR-09e W & sifed o € | IwR-ww # v e iy 2w |
wo e & 3Fs WHE | _
N TR [ 3T qdteror g & fafie vl & IR SpR-UAE W Sifted oRAT gE @, 39! WA
oA & a i orgelt & SR 3 fraxor geR-wAw AR

I O FH GeRI @ IS § WA $mwﬁm$wwémasﬁvmmﬁ‘rmaﬁm
< | 39T 30 WY e §REe @ S St agEfk g o

T W & o 93 uderr gReteT & 3 § W £

T R & o 7S |

TR WE-usl | FiRaR 3R Re e Tem 3R & e ave fRar smwem |

() T g & fore oR defos 3w € | IRikaR g1 ww e & foe far e v e IR & few
w1 e Fraa fe ne siet o1 es-foet (0-33) avs & w9 #F wrer smem |

(i) Rk Dy IHETR oF A S IR A 2, A 3} e IR A I, gafy Re I d d o
FR TR B 2, R W 39 ve & fore sodeeR € 39 axe o aus fEan e |

(iii)> e IR gRT DS He & T8I v e 2, 3vafe 3feeR gRT IR el o oen &, &) 39 wen
& foe o 7oz 9& = smem |

3G a@ mue dE GRiew gRadr @ien Bl A el S a9 G 7 G

Note : English version of the instructions is printed on the front cover of this Booklet.



